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1. ¬⁄UËˇÊÊÕË¸ ¬˝‡Ÿ-¬òÊ ∑§ §¬„‹ ¬Îc∆U ¬⁄U •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •fl‡ÿU Á‹π¥–

2. ∑Î§¬ÿÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ¡ÊÚ°ø ‹¥ Á∑§ ¬˝‡Ÿ-¬òÊ ∑§ ∑È§‹ ¬Îc∆UÊ¥ ÃÕÊ ¬˝‡ŸÊ¥ ∑§Ë ©ÃŸË „Ë ‚¥ÅUÿÊ „Ò Á¡ÃŸË ¬˝Õ◊ ¬Îc∆ ∑ §‚’‚ ™§¬⁄U ¿U¬Ë „Ò– ß‚
’ÊÃ ∑§Ë ¡ÊÚ°ø ÷Ë ∑§⁄U ‹¥ Á∑§ ¬˝‡Ÿ ∑˝ Á◊∑§ UM§¬ ◊¥ „Ò¥–

3. § ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ ¬„øÊŸ-Áøq ’ŸÊŸ •ÕflÊ ÁŸÁŒ¸c≈U SÕÊŸÊ¥ ∑§§•ÁÃÁ⁄UÄÃ ∑§„Ë¥ ÷Ë •ŸÈ∑˝§◊Ê¥∑§ Á‹πŸ ¬⁄U ¬⁄UËˇÊÊÕË¸ ∑§Ê •ÿÊÇÿ ∆U„⁄UÊÿÊ
¡ÊÿªÊ–

4. § ∞‚ ¬˝‡Ÿ ¡Ò‚ Á◊‹ÊŸ ∑§⁄UŸÊ, ‚„Ë •ÕflÊ $ª‹Ã, Á⁄UÄÃ SÕÊŸ ÷⁄UÊ •ÊÁŒ ∑§ ©ûÊ⁄U, ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ Á‹π¥–

5. •¬ŸË ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ¬⁄U ¬˝‡Ÿ-¬òÊ ∑§Ë ∑§Ê«U ‚¥ÅÿÊ 68/ESS/1-B Á‹π¥–

6. ¬˝‡Ÿ¬òÊ ◊¥ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§ ‚¥Œ„ •ÕflÊ ŒÈÁflœÊ ∑§Ë ÁSÕÁÃ ◊¥ •¥ª˝¡Ë •ŸÈflÊŒ „Ë ◊Êãÿ „ÊªÊ–

This Question Paper consists of 24 questions and 7 printed pages.

ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 24 ¬˝‡Ÿ ÃÕÊ 7 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–

Roll No.

•ŸÈ∑˝§◊Ê¥∑§
Code No.

∑§Ê«U Ÿ¥.
68/ESS/1

SET/‚≈ B



2  [ Contd...68/ESS/1-336-B ]

DATA ENTRY OPERATIONS (Theory)

«UÊ≈UÊ ∞¥≈˛UË •ÊÚ¬⁄U‡Êã‚ (Á‚hÊãÃ)
(336)

Time : 2 Hours ] [ Maximum Marks : 40

‚◊ÿ — 2 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 40

Notes :

(i) This question paper consists of 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section - A consists of :

(a) Q. No. 1 to 8 - Multiple Choice Type Questions (MCQs).  Q. No. 1 to 7 carrying 1 mark each
and Q. No. 8 carrying 2 marks.  Select and write the most appropriate option out of the four
options given in each of these questions.

(b) Q.No. 9 to 17 - Objective type questions.  Q.No. 9 to 10 carry 2 marks each (with 2 sub-parts
of 1 mark each) and Q.No. 11 to 17 carry 1 mark each. Attempt these questions as per the
instructions given for each of the questions 11 to 17.

(v) Section - B consists of :

(a) Q.No. 18 and 19 - Very Short Answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words.

(b) Q.No. 20 to 23 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

(c) Q.No. 24 - Long Answer type question carrying 4 marks to be answered in the range of
80 to 120 words.

ÁŸŒ¸‡Ê —

(i) ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ ∑È§‹ 24 ¬˝‡Ÿ „Ò¥–

(ii) ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(iii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ •¥∑§ ÁŒ∞ ª∞ „Ò¥–

(iv) πá«U - A ◊¥ ‡ÊÊÁ◊‹ „Ò¥ —

(a) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 8 - ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥–  ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 7 ¬˝àÿ∑§ 1 •¥∑§ ∑§Ê „Ò ÃÕÊ ¬˝‡Ÿ ‚¥ÅÿÊ
8 ∑§ Á‹∞ 2 •¥∑§ „Ò–  ßŸ ¬˝‡ŸÊ¥ ◊¥ ¬˝àÿ∑§ ◊¥ ÁŒÿ ªÿ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈÁŸÿ •ÊÒ⁄U Á‹Áπ∞–

(b) ¬˝‡Ÿ ‚¥ÅÿÊ 9 ‚ 17 - flSÃÈÁŸc∆U ¬˝‡Ÿ „Ò¥–  ¬˝‡Ÿ ‚¥ÅÿÊ 9 ‚ 10 ¬˝àÿ∑§ ¬˝‡Ÿ 2 •¥∑§Ê¥ ∑§Ê „Ò (ŒÊ ©¬÷Êª ∑§ ‚ÊÕ
¬˝àÿ∑§ ∑§Ê 1 •¥∑§) •ÊÒ⁄U ¬˝‡Ÿ ‚¥ÅÿÊ 11 ‚ 17 ¬˝àÿ∑§ 1 •¥∑§ ∑§Ê „Ò–  ¬˝‡Ÿ ‚¥ÅÿÊ 11 ‚ 17 ◊¥ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ŒË
ªß¸ ‚ÍøŸÊ •ŸÈ‚Ê⁄U ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(v) πá«U - B ◊¥ —
(a) ¬˝‡Ÿ ‚¥ÅÿÊ 18 •ÊÒ⁄U 19 - •ÁÃ‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ∑§ 2 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 30 ‚ 50 ‡ÊéŒ

„Ò–
(b) ¬˝‡Ÿ ‚¥ÅÿÊ 20 ‚ 23 - ‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ∑§ 3 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 50 ‚ 80 ‡ÊéŒ „Ò–
(c) ¬˝‡Ÿ ‚¥ÅÿÊ 24 - ŒËÉÊ¸ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§Ê ¬˝‡Ÿ „Ò, ß‚∑§ 4 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 80 ‚ 120 ‡ÊéŒ „Ò–
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SECTION - A/πá«U - A

1. Which of the following is correct cell address if the column name is F and row number is
15 ?

(A) 15F (B) F/15 (C) F15 (D) F@15

ßŸ◊¥ ‚ ÄÿÊ ∞∑§ ‚„Ë ‚Ò‹ ∞«˛U‚ „Ò ÿÁŒ ∑§ÊÚ‹◊ ∑§Ê ŸÊ◊  F „Ò •ÊÒ⁄U ⁄UÊ (‹ÊßŸ) ‚¥ÅÿÊ 15 „Ò?

(A) 15F (B) F/15 (C) F15 (D) F@15

2. Which of the following feature helps to add cell values ? 1

(A) Auto add (B) Auto Sum (C) Add all (D) ASUM

ßŸ◊¥ ‚ ∑§ÊÒŸ ‚Ê $»§Ëø⁄U ‚Ò‹ flÒÀÿÍ¡ ∞«U ∑§⁄UŸ ◊¥ ◊ŒŒ ∑§⁄UÃÊ „Ò?

(A) Auto add (B) Auto Sum (C) Add all (D) ASUM

3. Which of these is not a type of chart ? 1

(A) Column (B) Bar (C) Laser (D) Pie

ßŸ◊¥ ‚ ÄÿÊ ∞∑§ øÊ≈¸U ∑§Ê ¬˝∑§Ê⁄U Ÿ„Ë¥ „Ò?

(A) ∑§ÊÚ‹◊ (B) ’Ê⁄U (C) ‹$¡⁄U (D) ¬Êß¸

4. Ctrl+J keys are pressed to do which of the following action ? 1

(A) To go to the end of the document

(B) To Replace a text

(C) To make the text aligned as justified

(D) To Print a text

Ctrl+J ∑§Ë$¡ ∑§Ê Œ’ÊŸ ‚ ßŸ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∞Ä‡ÊŸ ŒπÊ ¡ÊÿªÊ?

(A) ŒSÃÊfl¡ ∑§ •¥Ã ◊¥ ¬„È°øŸÊ

(B) ≈UÄS≈UU ∑§Ê ’Œ‹ŸÊ

(C) ≈UÄS≈UU ∑§Ê ¡S≈UË$»§ÊßU« ∑§ Ã⁄U„ ‚ ∞‹ÊßŸ ∑§⁄UŸÊ

(D) ≈UÄS≈UUU Á¬˝¥≈U ∑§⁄UŸÊ

Note / ÁŸŒ¸‡Ê —
(1) Answers of all questions are to be given in the Answer-Book given to you.

‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U •Ê¬∑§Ê ŒË ªÿË ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ◊¥ „Ë Á‹π¥–
(2) 15 minutes time has been allotted to read this question paper.  The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò–  ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ŒÊ¬„⁄U ◊¥ 02.15 ’¡ Á∑§ÿÊ ¡Ê∞ªÊ–
02.15 ’¡ ‚ 02.30 ’¡ Ã∑§ ¿UÊòÊ ∑§fl‹ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ¬⁄U ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥
Á‹π¥ª–

1
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5. Ctrl+L and Ctrl+R activate which type of oprations on text ? 1

(A) Selection (B) Alignment (C) Deletion (D) Replacement

Ctrl+L •ÊÒ⁄U Ctrl+R ≈UÄS≈U ¬⁄U Á∑§‚ Ã⁄U„ ∑§ ∑§ÊÿÊZ ∑§Ê ‚Á∑˝§ÿ ∑§⁄U ŒÃ „Ò¥?

(A) Á‚‹Ä‡ÊŸ (B) ∞‹ÊßŸ◊¥≈U (C) Á«U‹Ë‡ÊŸ (D) Á⁄Uå‹‚◊¥≈U

6. Which of the following syntax for a function is correctly written ? 1

(A) SUM (B3 : F3) (B) SUM (F5/A5)

(C) SUM (=*P5) (D) SUM (=*P3 : A3)

∞∑§ »¥§Ä‡ÊŸ ∑§ Á‹∞ ßŸ◊¥ ‚ ∑§ÊÒŸ ‚Ê Á‚¥ ≈ÒÄ‚ ‚„Ë Ã⁄UË∑§ ‚ Á‹πÊ ªÿÊ „Ò?
(A) SUM (B3 : F3) (B) SUM (F5/A5)

(C) SUM (=*P5) (D) SUM (=*P3 : A3)

7. Which of the following is not a type of slide layout ? 1

(A) Comparison (B) Title only (C) Chart (D) Section Header

ßŸ◊¥ ‚ ÄÿÊ ∞∑§ ¬˝∑§Ê⁄U ∑§Ê S‹Êß«U ‹•Ê©U≈ Ÿ„Ë¥ „Ò?

(A) ∑§ê¬Ò⁄UË¡Ÿ (B) ≈UÊß≈U‹ •Êã‹Ë (C) øÊ≈¸U (D) ‚ÒÄ‡ÊŸ „Ò«U⁄U

8. In the questions given below, there are two statements marked as Assertion (A) and
Reason (R).

Choose the correct option out of the choices given below in each question :

(i) Assertion (A) : Line spacing determines the height of text in the paragraph.

Reason (R) : The default option is single line spacing.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

ŸËø ÁŒ∞ ª∞ ¬˝‡ŸÊ¥ ◊¥ ŒÊ ∑§ÕŸ ÁŒ∞ ª∞ „Ò¥ Á¡ã„¥ ∞‚‡Ê¸Ÿ (A) •ÊÒ⁄U ⁄UË$¡Ÿ (R) ∑§ M§¬ ◊¥ ◊Ê∑¸§ Á∑§ÿÊ ªÿÊ „Ò–

¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ŸËø ÁŒ∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë Áfl∑§À¬ øÈŸ¥ —

∞‚‡Ê¸Ÿ (A) : ‹ÊßŸ S¬Á‚¥ª ¬Ò⁄UÊª˝Ê»§ ◊¥ ≈UÄS≈U ∑§Ë ™°§øÊß¸ ÁŸœÊ¸Á⁄UÃ ∑§⁄UÃË „Ò–

⁄UË$¡Ÿ (R) : «UË»§ÊÚÀ≈U Áfl∑§À¬ Á‚¥ª‹ ‹ÊßŸ S¬Á‚¥ª „ÊÃÊ „Ò–

(A) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚≈UË∑§ fláÊ¸Ÿ „Ò–

(B) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „Ò¥ ¬⁄U (R), (A) ∑§Ê ‚≈UË∑§ fláÊ¸Ÿ Ÿ„Ë¥ „Ò–

(C) (A) ‚„Ë „Ò ¬⁄U (R) ª‹Ã „Ò–

(D) (A) ª‹Ã „Ò ¬⁄U (R) ‚„Ë „Ò–

(E) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ª‹Ã „Ò¥–

2
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(ii) Assertion (A) : Bar Code Reader is an image scanner.

Reason (R) : An image scanner translates printed images in an electronic format
which can be stored in a computer’s memory.

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

∞‚‡Ê¸Ÿ (A) : ’Ê⁄U ∑§Ê«U ⁄UË«U⁄U ∞∑§ ß◊¡ S∑Ò§Ÿ⁄U „Ò–

⁄UË¡Ÿ (R) : ∞∑§ ß◊¡ S∑Ò§Ÿ⁄U Á¬˝¥≈U«U ß◊¡Ê¥ ∑§Ê ß‹Ä≈˛UÊÚÁŸ∑§ SflM§¬ ◊¥ •ŸÈflÊÁŒÃ ∑§⁄UÃÊ „Ò Á¡‚
∑§êåÿÍ≈U⁄U ∑§Ë ◊◊Ê⁄UË ◊¥ S≈UÊ⁄U Á∑§ÿÊ ¡Ê ‚∑§–

(A) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „Ò¥ •ÊÒ⁄U (R), (A) ∑§Ê ‚≈UË∑§ fláÊ¸Ÿ „Ò–

(B) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ‚„Ë „Ò¥ ¬⁄U (R), (A) ‚≈UË∑§ fláÊ¸Ÿ Ÿ„Ë¥ „Ò–

(C) (A) ‚„Ë „Ò ¬⁄U (R) ª‹Ã „Ò–

(D) (A) ª‹Ã „Ò ¬⁄U (R) ‚„Ë „Ò–

(E) (A) •ÊÒ⁄U (R) ŒÊŸÊ¥ ª‹Ã „Ò–

9. Fill in the blanks : 2

(i) When you cut or copy text, the text is stored in an area of memory called __________.

(ii) __________ is the short-cut key for paste option.

Á⁄UÄÃ SÕÊŸÊ¥ ∑§Ê ÷Á⁄U∞ —

(i) ¡’ •Ê¬ ≈UÄS≈U ∑§Ê ∑§≈U ÿÊ ∑§ÊÚ¬Ë ∑§⁄UÃ „Ò¥, Ã’ ≈UÄS≈U ◊◊Ê⁄UË ∑§ ∞∑§ ∞Á⁄UÿÊ ◊¥ ¡Ê∑§⁄U S≈UÊ⁄U „Ê ¡ÊÃÊ „Ò Á¡‚
__________ ∑§„Ã „Ò¥–U

(ii) __________ ¬S≈U Áfl∑§À¬ ∑§ Á‹∞ ‡ÊÊÚ≈¸U∑§≈U ∑§Ë „Ò–

10. State True or False for the following statements : 2

(i) Font size is measured in meters.

(ii) By default Tab stops are set at 0.5 inch intervals.

ÁŸêŸ ∑§ÕŸÊ¥ ◊¥ ‚ ‚„Ë ÿÊ ª‹Ã ’ÃÊß∞ —

(i) »§Ê°≈U ‚Êß$¡ ∑§Ê ◊Ë≈U⁄U ◊¥ ◊Ê¬Ê ¡ÊÃÊ „Ò–

(ii) «UË»§ÊÚÀ≈U mÊ⁄UÊ ≈ÒU’ S≈UÊÚå‚ 0.5 ß¥ø ∑§ •¥Ã⁄UÊ‹ ¬⁄U ‚Ò≈U „ÊÃ „Ò¥–

Fill in the blank :

Á⁄UÄÃ SÕÊŸ ÷⁄U¥ —

11. __________ colour wavy line appears under misspelt word. 1

__________ ⁄¥Uª ∑§Ë ‹„⁄UŒÊ⁄U ‹ÊßŸ ª‹Ã S¬Á‹¥ª flÊ‹ ‡ÊéŒ ∑§ ŸËø ÁŒπÊß¸ ŒÃË „Ò–
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12. __________ is a single media file which includes sound, animation, art or movie. 1

__________ ∞∑§ Á‚¥ª‹ ◊ËÁ«UÿÊ »§Êß‹ „Ò Á¡‚◊¥ ‚Ê©¥«U, ∞ŸË◊‡ÊŸ, •Ê≈¸U ÿÊ ◊ÍflË ‡ÊÊÁ◊U‹ „ÊÃ „Ò¥–

13. All line spacing options are found under __________ dialog box. 1

‚÷Ë ‹ÊßŸ S¬Á‚¥ª Áfl∑§À¬ __________ «UÊÿ‹ÊÚª ’ÊÚÄ‚ ∑§ •¥Ãª¸Ã ¬Ê∞ ¡ÊÃ „Ò¥–

14. Name the tool bar on which lie the bulleted list button. 1

©‚ ≈ÍU‹ ’Ê⁄U ∑§Ê ŸÊ◊ Á‹Áπ∞ Á¡‚ ¬⁄U ’È‹≈U«U Á‹S≈U ’≈UŸ „ÊÃÊ „Ò–

15. Name the text that is added to the bottom margin of every page. 1

¬˝àÿ∑§ ¬¡ ∑§Ë ÁŸø‹Ë ◊ÊÁ¡¸Ÿ ◊¥ ¡Ê ≈UÄS≈U ¡Ê«∏Ê ¡ÊÃÊ „Ò ©‚∑§Ê ŸÊ◊ Á‹Áπ∞–

16. __________ is a slide that is used as a starting point for all other slides of the presentation.

__________ Á¬˝¡ã≈U‡ÊŸ ∑§ •ãÿ S‹Êß«UÊ¥ ∑§ Á‹∞ ∞∑§ •Ê⁄¥UÁ÷∑§ Á’ãŒÈ ∑§Ë Ã⁄U„ ∑§Êÿ¸ ∑§⁄UÃÊ „Ò–

17. Which function is used to calculate sum of a range of cells with respect to a given criteria ?

ŒË ªß¸ ‡ÊÃ¸ ∑§ •ÊœÊ⁄U ¬⁄U ‚Ò‹ ⁄¥U¡ ∑§Ê ÿÊª ÁŸ∑§Ê‹Ÿ ∑§ Á‹∞ Á∑§‚ »¥§Ä‡ÊŸ ∑§Ê ¬˝ÿÊª Á∑§ÿÊ ¡ÊÃÊ „Ò?

SECTION - B / πá«U - B

18. Suneeta was teaching about printers and its types in a computer class.  At the end she asked
students following two questions. Please try to answer.

(a) Name the printer type which produces text by combination of dots on a paper.

(b) Name the types of printer which is extremely fast but works quietly with automatic
paper loading feature.

∞∑§ ∑§êåÿÍ≈U⁄U Ä‹Ê‚ ◊¥ ‚ÈŸËÃÊ Á¬˝¥≈U⁄U •ÊÒ⁄U ©Ÿ∑§ ¬˝∑§Ê⁄U ∑§ ’Ê⁄U ◊¥ ¬…∏Ê ⁄U„Ë ÕË¥–  Ä‹Ê‚ ∑§ •¥Ã ◊¥ ©ã„Ê¥Ÿ ¿UÊòÊÊ¥ ‚ ÁŸêŸ
¬˝‡Ÿ ¬Í¿U– ∑Î§¬ÿÊ ßŸ∑§Ê ©ûÊ⁄U ŒËÁ¡∞–

(a) ©‚ Á¬˝¥≈U⁄U ∑§Ê ŸÊ◊ ’ÃÊ∞° ¡Ê ¬¬⁄U ¬⁄U Á’¥ŒÈ•Ê¥ ∑§ ‚¥ÿÊ¡Ÿ ‚ ≈UÄS≈U Á¬˝¥≈U ∑§⁄UÃÊ „Ò–

(b) ©‚ Á¬˝¥≈U⁄U ∑§Ê ŸÊ◊ ’ÃÊ∞° ¡Ê ’„ÈÃ „Ë Ã¡ „Ò ‹Á∑§Ÿ ‡ÊÊ¥Ã „Ê∑§⁄U ∑§Êÿ¸ ∑§⁄UÃÊ „Ò •ÊÒ⁄U Á¡‚◊¥ •ÊÚ≈UÊ◊ÒÁ≈U∑§ ¬¬⁄U
‹ÊÁ«¥Uª $»§Ëø⁄U „Ò–

19. (i) What is the difference between a compiler and an assembler ? 2

∑§ê¬Êß‹⁄U •ÊÒ⁄U ∞‚ê’‹⁄U ◊¥ •¥Ã⁄U S¬c≈U ∑§ËÁ¡∞–

OR  / •ÕflÊ

(ii) What is a High level language ?  Give at least two examples.

„Êß¸ ‹fl‹ ‹Ò¥Çfl¡ ÄÿÊ „ÊÃË „Ò?  ∑§◊ ‚ ∑§◊ ŒÊ ©ŒÊ„⁄UáÊ ŒËÁ¡∞–

1

2

1
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20. (i) Write names of any three generalized packages which are most commonly used. 3

Á∑§ã„Ë¥ ÃËŸ ¡Ÿ⁄U‹Êß$í«U ¬Ò∑§¡Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ ¡Ê •Ê◊ ÃÊÒ⁄U ¬⁄U ¬˝ÿÊª „ÊÃ „Ò¥–

OR / •ÕflÊ

(ii) Write any three DataBase Management System (DBMS) Programs.

Á∑§ã„Ë¥ ÃËŸ «UÊ≈UÊ’‚ ◊ÒŸ¡◊¥≈U Á‚S≈U◊ ¬˝Êª˝Ê◊Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞–

21. Expand the following (Any three) : 3

(a) ISP

(b) PC

(c) ISDN

(d) TCP

(e) TLD

ÁŸêŸ ∑§Ê ¬ÍáÊ¸SflM§¬ Á‹Áπ∞ (Á∑§ã„Ë¥ ÃËŸ) —

(a) ISP

(b) PC

(c) ISDN

(d) TCP

(e) TLD

22. What are the three options available under select starting document process in Mail Merge ?
Explain briefly.

◊‹ ◊¡¸ ◊¥ Á‚‹Ä≈U S≈UÊÁ≈ZUª «UÊÚÄÿÍ◊¥≈U ¬˝Á∑˝§ÿÊ ∑§ Ã„Ã ©¬‹éœ ÃËŸ Áfl∑§À¬ ÄÿÊ „Ò¥?  ‚¥ÁˇÊåÃ Áflfl⁄UáÊ ŒËÁ¡∞–

23. Write the steps to print the addresses directly on the envelopes using Mail Merge. 3

◊‹ ◊¡¸ ∑§Ê ¬˝ÿÊª ∑§⁄U∑§ ∞«˛U‚Ê¥ ∑§Ê ‚Ëœ ∞Ÿfl‹å‚ ¬⁄U Á¬˝¥≈U ∑§⁄UŸ ∑§ S≈Uå‚ Á‹Áπ∞–

24. (i) Define Organizational Domain.  What are its types ? 4

‚¥SÕÊªÃ (•ÊÚª¸ŸÊß¡‡ÊŸ‹) «UÊ◊Ÿ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞– ß‚∑§ Á∑§ÃŸ ¬˝∑§Ê⁄U „Ò¥?

(ii) Explain Domain Name System with example.

«UÊ◊Ÿ Ÿ◊ Á‚S≈U◊ ∑§Ê ©ŒÊ„⁄UáÊ ∑§ ‚ÊÕ fláÊ¸Ÿ ∑§ËÁ¡∞–

- o 0 o  -

3


